[Algorithm of Radix Sort] 

Assumption: sort decimal numbers (radix: 0, 1, 2, 3, 4, 5, 6, 7, 8, 9)

1. All the data items are divided into 10 groups, according to the value of their 1s digit.

2. These 10 groups are then reassembled: All the keys ending with 0 go first, followed by all the keys ending in 1, and so on up to 9. We’ll call these steps a sub-sort.

3. In the second sub-sort, all data is divided into 10 groups again, but this time according to the value of their 10s digit. Thus must be done without changing the order of the previous sort. This is, within each of the 10 groups, the ordering of the items remains the same as it was after step 2; the sub-sorts must be stable.

4. Again the 10 groups are recombined, those with a 10s digit of 0 first, then those with a 10s digits of 1 and so on up to 9.

5. This process is repeated of the remaining digits. If some keys have fewer digits than others, their higher-order digits are considered to be 0.

Example: Suppose that an input file R = {179, 208, 306, 93, 859, 984, 55, 9, 271, 33}.

(ex) K = K2K1K0 = 179. Thus, K2= 1, K1= 7, and K0 = 9.
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